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  Period____Date________________Graphing Trig Functions

Using degrees, find the amplitude and period of each function.  Then graph.
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Using radians, find the amplitude and period of each function.  Then graph.
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  Period____Date________________Graphing Trig Functions

Using degrees, find the amplitude and period of each function.  Then graph.

1)  

  

y = sin

 

3

  

θ

60° 120° 180° 240° 300° 360°

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

Amplitude: 1

Period: 120°

2)  

  

y = 

 

4cos

 

3

  

θ

60° 120° 180° 240° 300° 360°

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

Amplitude: 4

Period: 120°

3)  

  

y = 

 

2sin

    

θ

3

360° 720° 1080° 1440°

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

Amplitude: 2

Period: 1080°

4)  

  

y = tan

 

2

  

θ

60° 120° 180° 240° 300° 360°

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

Amplitude: None

Period: 90°

5)  

  

y = 

 

3cos

    

θ

2

180° 360° 540° 720° 900° 1080°

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

Amplitude: 3

Period: 720°

6)  

  

y = 

  

1

2
tan

   

θ

60° 120° 180° 240° 300° 360°

−6

−5

−4

−3

−2

−1

1

2

3

4

5

6

Amplitude: None

Period: 180°

-1-



©e g210X172c 9KouGtFaV nSXoxfit6wGaarlet ELYLFC8.D 3 uA4lml2 ersiqgHhAtusC JrAensaenrrvSeNd5.M Q 0MTaAdPeH qwbiXtoh2 nIQnbfTisnki7tleT 7ARlvgbedbGr7a3 72p.H Worksheet by Kuta Software LLC

Using radians, find the amplitude and period of each function.  Then graph.
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